PSS

Total No. of Printed Pages—32
B25-GM

( EN/AS/BN/BD/HN )

D

Subject Code : C2

2025

GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be
multilingual, viz., in English / Assamese / Bengali /
Bodo / Hindi medium, for their ready reference. In case of
any discrepancy or confusion in the medium / version,
the English version will be considered as

the authentic version.

The figures in the margin indicate full marks for the questions.

Unless stated otherwise, use . = g

wwcfﬁmmanﬁsmn:%qﬁm.

WWC‘?@QTWTWn=g72WW|
WWWn=¥E’HI

ofe a8, n =—2§2—mwmﬁﬁm|

d.

www.H ssamStudyHub.com




R R R IR IR =™

SECTION—A / 3—4| / $—14 / F—aTgT [ F—WT

Choose the correct answer : 1x45=45
W% T AR Tfeveq

W% Tl @ e -

C ﬁﬂﬁ'l’ﬂ@ Re1DEc

T8 IW gfig .

1. If a and B are the zeroes of the polynomial p(x) = 4x2 + 2bx + 9,
such that a +B =0, then the value of b is

T p(x) = 4x2 +2bx+9rﬂ?cmaqmlzhaw&®,w—a+ﬁ 0,
(SR’ b IW 2]

;M p(x) = 4x> +2bx+9a—°wi%a*1mzﬁa«sa\ﬁm,m—a+ﬁ o,
©IRCE b 99 T 2J

IR p(x) = 4x2 +2bx+9ﬁl€ﬁ7ﬁmﬁﬁlf\$@ AR o IR B RN, SR
o+B=0, 3= b A IR

afe TG p(x) = 4x? +2bx +9 F Y=F o I P 7, SR a+B=0%,a

b %1 54 B
(a) 6 (b) 4
(c) 2 (d) O

/r. Which term of the AP -49, =42, -35, .. is 0?
~49, -42, -35, .- 3G LofST DI I 7 232
-49, —42, -35, .- 7% ﬁﬁm"ﬁﬁ‘ﬂm?
-49, —42, -35, --- gAgfcr i e ferern enfera’ sme?
IR A (AP) —49, ~42, ~35, -.. &1 F\-91 & 0 27

(a) 9th (b) 7th
(c) 8th (d) 6th
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o ——




3 In the figure given below, AODC ~ AOBA, ZBOC =125° and
7 ZCDO = 70° Find ZDOC and ZOAB.
°@®, AODC ~ AOBA, ZBOC =125° &I /CDO =70°. ZDOC =%
ZOAB Tfeeq |

f5ca, AODC ~ AOBA, ZBOC =125° @& £CDO =70°. £DOC &%
ZOAB Qg 331 |

wEmiEE, AODC ~ AOBA, ZBOC =125° 30 £ZCDO =70°. £DOC
IR £ OAB feg|

9 Ru e R § AODC ~ AOBA, ZBOC =125° 3R £CDO =70° &
ZDOC IR ZOAB T S| E74E

D © E-w =
702

0% 125°

v

&
<

A
>
il

v

(a) 50°, 50° (b) 55°, 55°
() 60°, 60° “(d) 65°, 65°

4. To divide a line segment PQ in the ratio 5:7, what is the
= minimum number of points to be marked at equal intervals
on the ray drawn at P?

PO @IS 5 : 7 FPfes Sl IR A P R =R Sifeatet TR IR
S SEAETS S5 Face see [t [ e i wrfee 2

PO @414ef 5 ; 7 SEPICS 5 AR T P R (4 e en b
S A Tl P G W P8 T R PfEe waee 22

PO FE WM 57 TAEAE AR GErEEE aEE PO sRiwE
fE @ AgrEl FHE HRATE SR ST e R e g
FIAHA] ATA?

Tam@e PO &1 5 7 % sgaa # fawfia w0 % fou, P fag @ dis w @
F GHA Faue T FH-0-% e fagsht w fafga wen @me

(a) 7 %‘% by's
() 12 G () 2
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S. The area of a triangle whose vertices are (3, 0), (3, 4) and (x, 0)
is 6 square units. Then what is the value of x?
(3, 0), (3, 4) = (x, 0) Wfayys fagea ifer 6 9 @9 8@, x 3 T

23
(3, 0), 3, 4) & (x, 0) Mrye fagcea cvaws 6 35 436 %7, x @4
RICRe

(3, 0), (3, 4) 3 (x, 0) ufaf o) M1 srrEfRAmfy =emzfia 6 =
W’;ﬁmﬁw,xﬁwwﬁq

o st e ol (3, 0), (3, 4) 3k (x, 0)%, 331 S 6 = AEE 2
?ﬁxmmwm? E]::-cE!

(@) O EREE (b) 4

(c) 6 d) 9

6. The line segment joining the points of contact of two parallel
tangents of a circle is a/an

<51 ISR T ST =< opf g el 91 @19 0a0%
<l 30eA 7f6 ST Fopfra mof R Feger w1 @ree’ 2w
T I Al A EHR TR -t % o -fagadt # Se @ w e 3

(a) radius of the circle (b) diameter of the circle
IEOR ALY ISR A
Fefba apie Fafba
A B@rE SEAf W
gd 1 s T 1 A
(c) secant of the circle (d) arc of the circle
Fa0i e Bl TS 1
gefbg cavep  MINER: 7a(Bq Bl%f
A AT SEAf e
gd 1 Tk e ol sfian
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7. Ifsin @ + cos® = +/3, then which among the following is correct?

T sin B + cos O = /3 B, (S8 THAA (PO 5% 7
ﬂﬁsin@+cos@:\[§‘§§l,m%mﬁ@%?
9 sin 0 + cos O = /3 S, 37se MREM T 67

Ifd sin B + cosB = /3 &, @ f= § & F-w1 wE B?
E::-cE]l
(@) sin®=cosH Ty (b) sin®-cos6 =1

.

(c) sinb-tan6=1 (d) sin@-cotf =1

}/.’ In the figure given below, if XA =7 cm, YB =5 cm, then XY =?
wo] foqe i W, I XA =7 cm, YB =5 cm =, (SR’ XY = ?

Sesa foca rew Wco, I XA =7 cm, YB =5 cm ™, OI%H XY = 2
eyt gEmiEE gFE 918, g XA =7 cm, YB =5 cm, 30 XY =?

R RrmfEd, A XA=7cm, YB=5cmg, @ XY =?

VA
& B
X A X
(@) 17 cm EiEE (b) 10 cm
i : (d) 14 cm

() 12 cm =]

B25-GM/501-D
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//9 The heights of a cylinder and a cone are in the ratio 2:3 and
their volumes are in the ratio 9:8. Then the ratio of their radii is
GOl (I WF Bl XGH T RIS 2:3, G SEPTS 9:8 ¥,
PR p1dR TEpre 29

I (@ @R @B M TR TS 2:3, WS H7MS 9:8 27,
I P ST® 2¢q

T TR TR W SEgR sty sgeme 2:3 SR A wgaEar 9:8
ST, SERR wEEf wgATEE s

T 9o 3R g R Fengat 2:3 F o § § R Ik AFH 9:8 F
g & ¥, @ S Frsenati w1 s g‘%ﬁ!
E--v e

(@) 27:16 (b) 9:16 (c) 4:3 (d) 3:4

10. If 21 is removed from the data
11, 125+14,:14; 15, 1%, 19260 2}
then the median of the new set of data is decreased by

T 11, 12, 14, 14, 15, 17, 19, 20, 21 SUPI °[1 21 IW fan =7,
(2 e TP SUAPTIRA TR 2T 29

It 11, 12, 14, 14, 15, 17, 19, 20, 21 S (AF 21 I @S
27, ©I2CH A9 OBl TG 2P 2

9fe 11, 12, 14, 14, 15, 17, 19, 20, 21 G@RERAEE 21 TRAA
SR, 3ecAT MEH WINGHR TSHH THEEE SE

gfe 11, 12, 14, 14, 15, 17, 19, 20, 21 3fwsl A 21 =+ g1
STe, 1 AT TSl 1 7S fohaan w2 smem?
E=E
(a) 2 ' (b) 1
Ok 5
(c) 05 d) 15
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11. If three coins are tossed at the same time, how many outcomes
will be there?

i fR01 Y@ weretest B 1 =W, (WCETH FHATE A 2T

it fof Y@ G0 B T W, SR TARFCA] IR 209
SR e @Rk W8 @ @ S, s e swfmE S

IR 9 Rral | T @ W W G IS S, A it H e g

(@) 6 ’ (b) 3

(c) 9 ~ _,5 (d) 8

12. The value of 38 + 327 + ¥64 is
I8 + Y27 + Y64 I TA 2]
38 + 327 + Y64 @7 I =X

38 + 327 + Y64 Fi 7 TR

¥5 + 457 + Y64+ W R

@ 6 (b) 7

(c) 8 (d) 9

td.
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yB/. Which of the following is an irrational number?

TR (N0 @Bl SR 22 2

A @0 G Seifaer s1eem 2
MEEH AT AFH3T TSy e
= § @ FR- s sfol e 27
B &
(a) o (b) 375
35 s i V63
(c) E (d) \[’7

3 +4x2 —3x+2 is divided by

14. When the polynomial p(x);f
x +1, what is the remainder?

p()=x3+4x% -3x+2 IPMEBR x+1 @ [ IR, 0w AW
EX

p()=x3 +4x? -3x+2 ITWHE x+1 T OP FACHA, SR I
m? ‘*"1_

= x®+ 452 -3+ 2 PR x+1 9 e, TR A

angp(x)=x3+4x2—3x+2§%£+lﬁ WIT 3 W NHSA 1 Bm?

(a) 4 (b) -4
(c) 8 (d -8
B25-GM/501-D [ Contd.
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?/ff the graph of a polynomial cuts x-axis at two points and y-axis

10

B25-GM/501-D

at one point, then the number of zeroes of the polynomial is

<51 2o AR ETRDICE x-S 751 Y 6 wE y-orns 9ol e I,
(STHR T IO 19 3R B']

«3fd eom afE x—mﬁﬁm‘mm\ymﬁ@ aofb s
B, SRCE PO XTI R 2I

ﬁﬁﬁmﬁmmmﬂmxﬂﬁz@@tﬁﬁ%ﬁmmm
y-TRerErd B e M, st ity enfira’ B smfmmen s

afR e g 1 - 1 A figalt i y-ore 1 o Fag
FA R, A SEIR F Y H g

(a) at least 1 (b) at least 2
IS 1 IES 2
YR8 1 I A8 2
TrsAE 1 THATE! 2
FH--FH 1 FH-H-FH 2

(c) at most 1 (d) at most 2

w®AR1 [ @R 2
@ @M 1 w@ @M 2
LRI FHAR 2
Afew-g-21u% 1 arferer-Q - arfere 2

/ Which of the following is a linear equation in two variables?

waTe il AR (ICH! 701 S (AR et ?

Sies i Seaeisler @A 4 tawyE tafie TR 2

AT AT TR T A A M TR SRS ?
Wﬁﬁ#-wwﬁaﬁw%ﬂw%?

(a) 5x-2y =0 S5 (b) x+x?-2y+8=0

(€) x+2y+10=x%+y G (d) 3x-2y* +1=23x

[ Contd.
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17. For which value(s) of p does the pair of equations given below
have unique solution?

p 3 5 IR A3 oo a9 @IAT 9B SfESI S S0 ?

P 99 (I WA & Neb (raw) AR (S Gl GO T HCZ ?
p W wE sraw TR S wEeTE SO A g g &

p % f5m o ¥ fore 3 faw o it w0 e v g

4x+ py+8=0
2x +2y +£2:=0

(@) For all values of p, except 4
P34 I AMZE & I
P 99 4 @9 q%E R I
p T 4 1 smm m@e 7w
4 %1 B p & aft qHl & foaw.
(b) For all values of p, except 2
p A 2 7 AR e T S
p ¥ 2 &% 20 WG AT
p T 2 T s3m e 7=
2 I BIEa p % |+ft 7HI % forg
(c) For p=4 only
(e p =4 Y€1 AR
(9 p =4 TS G
p =4 wHR arEEE’
fif p =4 % frg ‘
(d) For p=2 only
(F<E p =2 € AR
@@ p=2 AT L
p =2 HAN grEa™e’
s p=2% fau

B25-GM/501-D [ Contd.
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18. For what value of p, the equation (p —2) x2 +3x+5=0 cannot
be quadratic?

p3 R R AR (p - 2) x2 + 3x + 5 = 0 3 MNeerch1 faers FAAFa 724 7

PR R NGR G (p—2)x2 +3x+5 =0 Wgafs fagre AP 20
Cilb

p W qER ar@™ (p - 2) x2 + 3x + 5 = O GHFUTHT ST HHATE ST7

pésﬁwmésﬁaqmﬂw(p—2)x2+3x+5=o&qrawﬁmw=r€f€l

(b) 2

(c) -2 (d O

19. The roots of the equation ax? +bx+c=0, a#0 are real
and unequal. Which of the following is true about the value of
the discriminant D ?
w2 + bx+c=0, a0 JRR TAH IV e oEr, R DI
RCH! T AR BT 377 ?

2 + bx+c =0, a #0 AN T AT 931 oW, RbF D «F
@RG TR & @b 579 ?

w2 + bx+ ¢ =0, a # 0 FAHATER TETHT A IR wHrAts, Tl D
o1& HEA 4@ S an?

adiE ax? + bx + ¢ =0, a # 0 % 7ot arafaes 3 frm &, ffawsa D %
g 7 % fore 98 | 27

E-‘;RE!
(@@ D<O % (b) D>0

() D=0 (d) D<O

B25-GM/501-D [ Contd.
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Which among the following is the correct expression for the
70th term of the sequence 4, 9, 14, 19, 24, -7

4,9,14,19, 24, - RAIGA 70 *BA AT T (P TS LT
IR Wwm 292

4,9,14,19, 24, ... @@fq 7097 4 G ANHI (P GIABCS 2T
A % 3 7

4,9,14,19, 24, ... gm@fy 70 fremf g@E TEEA AW TEE
BIRATASAT T8 A7

4,9,14,19, 24, -.- % 703 98 % fou f= & ¥ -9 faey @&l 27
OO

(&) 9+ (70 x5) (b) 4+ (69 x )

(c) 5+ (70 x4) - (d) 5+ (69x4)

The first term of an AP is —20 and the sum of the first 20 terms
is —350. Which among the following is the last term of this AP?

9Bl TG A9 2T 7% — 20 T AT 2001 74 s -350, (S2’
TEq (FICOI, STHB 25FSBR ’q = 2742

P T 2SR 249w M -20 @ =2 20/ “E @R - 350, W
Aeva @G TR 29ifeba ovcag oM 3@ 2

ard gEgia st fifs e -20 am fifs ww 20 farER g
~350, 37ecT MeEH A" GHf S Sty fyems smm?

foFdll TR 4¢1 (AP) #1 W9W 98 -20 % 3R 3@ wuw 20 wet w1 9m

~350 &, @ = & & F-71 7 G A (AP) @ sifim w2 @
El:kE!

Bilage (b) 55
(c) -15 (d) -55

(@) 15

[ Contd.
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22. If in AABC, AB =6 cm and DE || BC, such that AE = g AC,
what is the length of AD? 2
I% AABCR AB =6 cm, W DE || BC, && AE = 1 AC, (S8
AD 3 v 2] :

I AABC @9 AB =6 cm @& DE || BC, WRH AE = L AC, Iz
AD @3 tvdj 3] z
1

dRR AABCR AB =6 cm 3 DE || BC, 3IR&@ AE = = AC, #=cl
AD T @ s ¥
1

aft AABC ¥, AB =6 cm ¥R DE || BC, gam%%AE_—AC'@r
@ AD 6 erarg /& qefl? 2

A
D/\E
o/ o

{a) 15 e by U8 cm (€f 1:2 cm (d) - 0:6 - cm

3. I el = AC, =4 = 22§ and ZA = ZQ = £Z, then which among
OR ..PD. OP= ER

the following is true?

m‘ﬁAB o A2 5 e L0 = LZ, (SER'TA OHF (R0
OR PO’ QP PR

512

o ABoAC Xe B yal Jon Azwﬁmmwﬁ‘:
OR PO’ OP PR

%7 2

:A—EAB AC XZ XY ooy JA=/Q = £Z, 3= TEAR AN AR
OR - PO..OP:=PR

o AB _AC XZ XY sy - ,Q=sz @, @ fm A AR
OR PO’ OP PR
aeg 27 Oltell)
(2) AABC ~ AQRP ~ AXYZ BB (b) ABAC ~ AQPR ~ AYZX
(c) AABC ~ APQR ~ AXYZ (d) AABC ~ AQRP ~ AZYX

B25-GM/501-D [ Contd.
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24.

25.

26.

B25-GM/501-D
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; d (3, k) are
For which value of k, the points (7, -2), (5, 1) an ( )

collinear? i
k3 GICH! N A (7, ~2), (5, 1) 1% (3, k) RPie2ol GFCAA 247
k @9 (T NIRRT (7, ~2), (5, 1) @ (3, k) Rt GFCAAN 7CA?

k £ 7 el o (7, ~2), (5, 1) 3R (3, k) frrd garae STA?
k % fra o % R g (7, - 2), (5, 1) 3 (3, k)@ &7

(&) 2 el (b) 4

(c) 6 mNE: d) 8

For what value of a will the distance between the points A(a, 4)
and B (2, 7) be 5 units?

a3 71 AR A(a, 4)SF B(2, 7) [ 70R T6T {9 5 GFF 292

a 93 F N & A(a, 4) 9R B (2, 7) R 957 70 19 5 99 =3 ?

a B w1 AR0 ym@@ A(a, 4) FR B (2, 7) o< A ol SHgET
5 ARG SFTA Y

a % T8 7 % e fag A(a, 4) 3 B(2, 7)% = 61 gt 5 wr arfi?

(@) 6 (b) -2
(c) 6 or -2 ' (d) 2 or -6

What is the value of cot25°cot35°cot45° cot55° cot65°?
cot25° cot35° cot45° cot 55° cot 65° I W R 2°7 2

cot25° cot35° cot45° cot 55° cot65° G T F© 71 2
cot25° cot 35° cot45° cot 55° cot65° T AT JA=T S ?

cot25°cot35° cot45° cot 55° cot65° 1 HIF w1 &MY
O30}
H ]

(a) I/% e (b) V3
(c) 243 (d) 1

[ Contd.
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27. If secA+tanA = 1 then x+ — =7
\ b X

1 19,

nﬁSGCAHanA-—— (o8 X + =)
X X

’JﬁsecA+tanA—l WRE X +

><
*‘xl»—*

1
Jft secA+tan A=—, 3l x + — =7
X X

i
?JﬁsecA+tanA=l%,ﬁx+_=?
x x

(@ 2tanA (b) 2secA () =inerA (d) tanA

28. In the figure given below, if ZQOR =100° then what is the
value of ZOPR?

e fwm W, I L QOR =100°, (S2’tel LOPR T WA f&H 2’32
fiza crew W, T LQOR = 100°, BRGA LOPR &F TR T 2 ?
TR 2 A, R LQOR = 100°, ¥l LOPR i A1 #d Smik?
1% fu o fw §, 9 LQOR = 100° 81, @ LOPR %1 #H 41 €Fml?

(a) 100° (b) 80° (c) 60° (d) 40°

29. The area of a sector of a dircle with radius R and central
angle 30° i
R 3P4 aﬁq@a @z 30° mﬂ@mwﬁrz’a
R API4R @b 90ed (3C% 30° (FINF JOFH (Fawe] 201
R @' @Ef Hid At fwaE 30° GAPIA eI asergiiEn A
e R g 99 % 3 # 30° %) dct Frowrds w1 faee &
n

(@) gR (b) I%R (c) I%RQ (d) IgR2

B25-GM/501-D [ Contd.
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a circle is 24 cm

: : ] ‘ the tangent to .
30. From a point Q, the length of g o The radius of

and the distance of Q from the centre is 29 ¢
the circle is

d51- R 07 o1 @Bl 981 ©opfFEER O 24 cm STF (FET PARAL
26'cm 2’77, JEo IPTY 27

G R O @q (AcF @ Jraq =@ O 24 om R (FF (0F O
YRS 25 cm A, Joo9 AP I

S B O P A dwafy iR R @RAEN 24 om SR
frefiwr O f SRYE 25 cm SRS, @R @ @@ SIE

w g 0w 39 W W@ H @EE 24 cm 9 Q H kX F @
25cm Bl g B

(@ 245 cm (b). 1S cm
(c) 12 cm (d) .Z.cm

31. Ifwff;e perimeter and the area of a circle are numerically equal,

ﬁﬂﬁWWWWW\WWN, (L8 TR TP 7'

A @3 qred R 992 Crawe SRRPSE T =W, s 9By TP
G :

gt A8 dEdt anffeRm o gsemEfEn sARmER wwm Sy, s
aEA | @rE SIEA

@@ﬁwwmmé@mmﬁwﬁ,a}w%aﬁﬁw%

(a‘) 2 units (b) m units (¢) 4 units (d) 7 units

{102 999 n G 4 93¢ 7 G
G200 i B N
! 2 wrfe n A 4 7 W
2 HIEA%H 7t HIAh 4 HIEHH 7 HEHA®
B25-GM/501-D | [ Contd.
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33.

34.
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Three identical solid cubes of side k units are joined end-to-end
horizontally. What is the volume in cubic units of the resulting
cuboid?

B0 & tdE TP TR AT ST st 4 2A | AT
YO YHICBIR WHSH 7 (TS I 2/ ?

R k o ST O AlCE-2iy SpRFeRa e T4l 2 | RE
WHSY TTIF WA T G} TS (3.2

DRI k AR TN AR U SIS S g RIS S |
AT STeTR SR AT o wfeeE e S

k W ) e o A w9E 3 e Ak Afis =0 RR-2-R @ 18
e STU, @ T A T A I WS A 1 QY

(@ 27k3 (b) 18k3 () 9k3 d) 3k>

If the curved surface areas of a cylinder and a cone of same
radii are numerically equal and the height of the cylinder is 2 cm,
then the slant height of the cone is

S TPTER <Bl RE W BT WA e SRR W | T
@GR TSl 2 cm, (SCR'TA M T A Tl ']

ST IPICER G (@O R G M IFIA (R SRR A |
ﬂﬁ@mﬁa%mzcm,—mwwmm

oA wEEH T T mﬁq@m@ﬁ@@ﬁqﬁmﬁﬁm SCI 0101103
mﬁﬁwngﬁm@ﬁaﬁmzc@»mwmsﬁmw
aﬁwﬁwm@r@wsﬂt@?@%aﬁm SR Wi €9 &
R B ﬁwaﬁmrézcmﬁ A vy A fodies =g = vl?

(@) 2cm (b) 4 cm (€ 6 cm (d 8 cm

What is the mean and median, respectively, of the first S5 prime
numbers? B

2gs 551 (Nfee ALy T S ﬂm{:@m

o 5T (T FLLTA WY G918 T G

fiffa 9 5 a1 @At e s erETE i

o 5 SWTSd HEAE] 1 HEN: HIed SR w1 g

(@) 8,5 b)) 52, 8  ™c) 56,5 (d) 36,5
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T e ————

1 |y ()f not
”] : the probablll

getting same number in both?

71 Rew spaf aee W eifduie AT 9
R 2

‘ . 1 S T 7
o Rrow Fual Qi Rt e pioee @@ A A e

of] (AICATATE gifae!

SIRICEIRIR 1K
2 s T B o e e w31 A e # e wen T e A
TTirean 1 B ?
: ik
5 ® 56
(0)2 ) 0

36. A letter is chosen at random frem"Enghsh alphabet. What is the
probability that the letter chosen

; lies between i and x?
ES IR b G s R D B < AW R, WA i W x
qEre 9[RS 9= 2

BRG] T (AF b P RO @R e, Wl €] x @
T AR PR TS 2

mﬁ@mﬁmmwm’ﬁwm,g@mimxﬁ

TSRTE AT SLTET Sdi?
) 5 ) 52

B25-GM/501-D
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If p e g and when p =6, then g = 30. Now if p = 2, then what is
the value of qg?

AT+ 7

T p o qF p=62, (5B q =30 9T p =2, (5B g3 T

T Px<qg €R p=6 T, 9 g =30. 93 p =2, O q9q T FO
[ ? B E

[W]% &R
‘f"pxqmp=6mq=3o.aﬁmp=2,mqﬁumaaai?

;ﬁnpxq3ﬂ?p=6€3,?hq=30'€l7m3ﬁp=2'€r,a’tqmmw
?

(@) 12 (b) 20

(c) 10 (d)e 15

Which of the following is a perfect cube?

we (@ICH! A T 7
Sheva @ o4 992

T T T 7

faet & @ qof o FH-T 87

OF :-c@l
(a) 652 %E@ ; (b) 933

(c) 343 (d) 1002
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39. Which of the followin
SR CINCH! SR YA SR 391 2
N R STl Ty SRR T 2
Trerf AT s e SR i
51 3§ - g e de & A 8l

EiE
(a) 256 g:% (b) 169
E-v =

(c) 546 (d) 754

40. Which of the following rational numbers have terminating

decimal?

TR (ICRRDT IR A AR vl Rigfe wieR 2

Aoa @SR wifeR WRAE ofPmIe miive KBl wme 2
Wmmmmﬁmﬁmﬁmmm qTTH?
et 3 4 -t it wmadt 3 wvmrer e i 37

0
@) T
(idi) 2;%
) L

() ), @), (i) @Egm

i (b) (1), N s
(©) (@), (i), (v) BIEH (i), (iv)

) (i), (i), (iv)

B25-GM/501-D
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41. For any primes p and q, p2 and q2 are

(X) prime numbers (Y) composite numbers (Z) co-prime numbers

ﬁm@ﬁaﬂwpw q 3@ p? wF g2 27

(X) (NferRe seem (Y) CTfors 4 () 12- (Tl 1R
Off :-:[q
(G AR KM p =g q @7 & p2 @k g2 W EpA
(X) cfers s (Y) cfere >4 (Z) T=-(TfeTs R

STARESR a1 R p AR g T aram p2 @l g2 o SEE
(X) TaT TR (Y) S8 erfem (Z) < Trar Srfem

Toreht oft srvTsa w@w p 3R g % fw p2 qun g2

(X) 31T /&= (Y) 959 |&n (Z) |- HE&A

(2) Y and Z are true (b) Only X is true
Y <€ Z 1) 9 X 9
Y 9RR Z 719 9 X 5791
Y 30 Z IR X &’ 4R
Y R Z 51 & i X wdt 2

(c) Only Z is true (d) X and Z are true
AL D X EF Z 7
WzAm X G Z 5%
Z o’ 9n X 3R Z 9R
fak Zz wdt B X R Zud

B25-GM/501-D [ Contd.
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42. A quadratic polynomial p(x) = x% + bx + ¢ has zeroes 0, and B. If
a+B=7anda? + B2 =29, then what are the values of band c?

b1 faqre 2o p (1) = x2 + bx + o7 P [l o E P. WM o+ =7 A
o2 +B‘2 =29, (@ b HF cJ Y42’

G IS T2 p(x) = x2 + bx + c 97 ¥+ 7B o GR B. W a+p=7
R o + B2 = 29 =W, wEEH b @R ¢ 9F T A

B8 ST feEE p () = x2 + by + o1 @frE @ o SR B, T
o+ B =73 o? + B2 =29 RN, 3T b AR ¢ T A A

T f561d 5598 p(x) = x2 + bx+ ¢ % YF o AP IR o+ P =7 3K

a? + B2 =207, @ b 3N ¢ % WH = AM?
E4E
(@ b=7,c=20 &5 (D) ib S 7ihec 1

(€) b=7,c=10 s () b= = Tric=20

43. If the value of the polynomial p(x) = ax3 + bx? + cx + d is 10 for
x =0 and 15 for x =1, then what is the value of a + b + ¢ ?

It @B W p()=ax3 +bx? +cx+dI T x=07 IR 10 WF
x=1933 152, (B a + b + ¢ I A 2

M @3 =M p(x)=ax3 + bx? + cx+d G T x = 0 7 & 10 <=2
x=19997 15 ¥, O a + b + ¢ 9 T F© (I ?

g A8 fagmial p () =ax® + bx? + ox+ d B 77 x =0 sm@m 10
AW x =117 gr@@ 15 9@, =1 a + b + o 9 A=t

a’%ma@’q?p(x)=ax3+bx2+cx+d3ﬂmxzoaiﬁ‘ﬂ 10 3R
x=1%faC 158, 9 a + b + ¢ %1 9 e aem?

(a) 25 g%g (b) 10
(c) 5 ke d) 15

B25-GM/501-D [ Contd.
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44, :
What are the vertices of the triangle formed by the graph of the

45.

B25-GM/501-D

equations 4x -y -8 =0 and 2x -3y + 6 = 0 with x-axis?
4x-y-8=0 W& 2x-3y +6 =0 3WF@ =14 P2 x-Tw OLS
Teom 91 fapechR MRvam ta

4x-y-8=0 @R 2x-3y+6=0 FNWCR @Y Yo x-FCH 7CH
Teorm 91 fagwiba MeRmafr e

4x—y—8:0m2x—3y+6=0wmﬁmﬁmx'gﬁg@sﬁ
wfsErm a2ty frfaf fawr st

4x -y -8 =0 3 2x -3y +6 =0 % ai o@l (AH) 3N x-¥181 g &
Brgst & ofid &

@ 2,0,6,4,6 0 (b) (-3,0), (3,4, 2,0

(C) (O, _2): (37 4)7 (07 8) e 6 (d) (O, —8)» (3’ 4)’ (O’ 2)

If the lines x =2, y =3 and px+2y -10p =0 meet at a point,
then what is the value of p? ==

fw x=2, y=3 A® px+2y—1@g{ 0 @41 R @b Ry fifers =,
(5@ p T T 2

% x=2, y=3 a® px+2y—10p =0 @1 7 @ Rre fffe =,
O p G W S A ?

gk x=2, y=3 S px+2y-10p =0 TERN A =T |
e, s p A swEi?
?Jf%x=2,y=33ﬁ1px+2y—1(§k:%0%@ﬁ@ﬁ§ﬂtﬁwﬁ€r,a’lp
1 HHA 41 7

(a) El,’- (b) ‘%

(c) —2— (@ %
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46. Express in factors :
TRAMFS AT !
TLAMCE AP AL
YHSE AR HRAT
Xy bocct y o+ 1

47. Show that every positive even integer is of the form 2g, and that

every positive odd integer is of the form 2g + 1, where g is some
integer.

& mmmqmweag&ﬂmqw%wm 4 YU
wye B 2 +1 W, TS g FEAR FIS FRA |

Gdle @ ACTR T YU TG YT 2g VR AR ACHF AP FIH
1% SRR 2q + 1 ST, @A g G G0 TS AT |

Rfa R SRR TEETE T T FARERET 2q TR AR TR I
Sy 7 AR 2g + 1 W, STE g 3 AW A T ()

g9tz T T&H CFTeReh TH YOI 2g % F9 I A1 & A°1 TAH GAIcHH S
rgﬁﬁ%%ﬂ%@ﬁéﬂ%ﬁﬁqsﬁégﬁsﬁ%.

48. Prove that

299 M &
ofare I A
wrAH @rem 2
farg, Fifore, o6 ‘
(secH —tan 9)2 = I-S%ne 2
1+sin®
B25-GM/501 [ Contd.
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49. For acute

A <" 3 anglcs A and Ig, sinB = (j()\q(/\ + 60° ) Find tan (A . B) 9
W‘“QT. | TN 3@ sinB £ COS(A +60°) 3% tan (A + B)3 T

A Q3R 7 .
B SRR &+ sin B =cos(A + 60°) ¢4 tan (A + B) 99
_efy sz
A ‘
Sl BWWWsmBzcos(A+6O°)GIT€ﬁW, tan (A + B)

M fegA)
RIS Sin B =cos(A +60°) ® S& A 3t B =@ &, @ tan(A+ B) #
"M 6 hif)

y A child has a die, whose six faces show the letters as given

below :
2B EEE R

The die is thrown once. Wh%\;t is the probability of getting
(1) A and (i1)) D? BT 2

o a5 el TR, T T P ©9Te (reaR WA WK G
[E]

551 @39 TR “AfPea 24 | (i) A = (ii) D SR ST 2

ol forem @b Ao weg, I 2 Pres Mo rewl e T (@ A
o] [E]

«f3f5 GeaR oA T ZA | (i) A 9R (i) D (@3 287R BRA F© ?

 EEREE

TeEE Aed TEER 6| (i) A (i) D R STeraET w1

@aéa;qmimw%,ﬁa%@:%aﬁwﬁmamaiﬁm%:
o] [E]

mmﬁﬁwm%@miumﬁwwﬁm%ﬁﬁmAmﬁw
(ii) D 9 E17
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51. Solve the following equations
o] NI TN FAT
Neva SRNFASH STNE A
TeER gEeE SO aEpan e
fm wfter % gm g HINY

2x+Yy =9
3x+2y=8

he
52. The difference of squares of two positive numbers is 180. ger
square of the smaller number is 8 times the larger num 3

Find the two numbers.

B! 4R SR 904 2 180, 3 SRACOA <of TIeT FRAIOA 8 35 |
ESIRORE

vib I SR o7 N 180. @ﬁvf\ﬂnﬁaw%ﬂmﬁsﬁ 8 |

>33 46 fefy e |
AR IFRMIH S HRE 180. gﬁqwﬁmﬁaﬁwéﬁqmﬁmﬁsm

R | sl wAE g
3 YT GEAIT % 71 1 3R 180%@&2111@1%131?3%‘111@13518

T 21 31 e 3ra i)

53. In an arithmetic progression, the sum of the first n terms is

§_r£__ +En Find its 25th term. 3

2
aﬁwmﬁa@ﬂmmﬂwsn 13n,m’zazsmm
farefy <1 |
a6 STAEY 291feq 212 nﬁmmﬂ‘«?ﬁ 3n? 13n, ©OICH 250 owD
ﬁ‘fUWI
- 2
o gt e B e P 213,
25 for feremama fag |
3 2

UF FHH 441 (AP) #, g nqﬁsﬁr!ﬁn%ﬁgn%lwzsﬁm
31d s

B25-GM/501
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54. X A : .
and Y are the points on sides AB and AC respectively of
yC =15 cm, show

AABC. If AX =4 cm, XB =10 cm, AY =6 cm,

ABC fige® AB 1F AC Jz® @ X ¥I¢ y o1 fg 1 A AX

XB =10 cm, AY = 6ty YC =5 CcImn, Cﬁ?isgﬂ &l QBC :7XY E
=l

=4 cm

’
7~

L4

ﬁjlﬂﬁ?AX:ﬂr cm, ;
m, (7419 @ 2BC =TXY.

ABC figts AB @R AC IS T X @@ Y g
XB =10 cm, AY =6 cm, YC =15¢C

ABCar@rﬁﬁmmaABaTﬁAcm@ﬂﬁmﬁxm
R AX =4 cm, XB=10cm, AV =6cmy YO fa
OBC = TXY:

ABaﬁIACqIW:ﬁI’g'X

St AABC w1 e
afg YC =15 cm &, a &=

AX =4 cm, XB =10 cm, AY. =6 e
ﬁﬁm%wc:mymu ‘

B
: DR .:cEI
Eé‘%:

9, 4)and D (P, 3) are the vertices

55, If the points A6, 1), B(8, 2) Ci

of a parallelogram, taken in order, then find the value of p. 3
«fi A6,1), BB 2), C(9, 4) &% D(p, 93 RO G301 TS B
s Y 2, e p T TR
aw A6, D B (8, 2 €19, )48 D(p, 3 Rzl g3 T 9
WW@,memﬁ«fﬂwmu
s A6, 1) B8, 2, CO, 4 s D (p, 3) e Ryresamsi ®RA
fex&aﬁﬁﬁfsﬂvﬁ, sy p T A fagd|
of fig A6, 1) BB 2 CO 4) 3t D (p, 3) e wErgys % T
amﬁ‘eﬁ,?ﬁpﬂﬂﬂﬁﬁml
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\ an external point
. Prove that the lengths of tangents drawn from an ext ;
(ORE o

to a circle are equal.

ST 9 1 b1 AR 11 e Gy epefmcaAraa o ST |
B RN 1 G AR (e 7w oty B opdpeafer Tl ST |

PIEH G RN wR Reafee SaiRm e A s
SRR §HH |

i e 3 ae fig @ o7 w adfeh 76 et Yt ) e @R A )

}7./ Find the area of the sector of a circle with radius 4 cm and of

angle 30°. Also find the area of the corresponding major sector.
(Use m =3.149) 3

4 cm IS @Bl a1 30° (I FEIFACTR et A 1 1 AT, Sy
T30 JSFACOIF ey fefey vy | (/2@ 1 1 = 3.14)

4 cm IR «of Jrem 300 QR ISR v fefy e | 51w
ST Y3 ety mwﬁcfnwwmmn=3.14)

4cma’@mﬁﬁﬁqﬁé@wﬁ30°@mﬁ§@aﬁﬁm&ﬁ§m IR
éﬁrﬁﬁ%ﬁ@ﬁrﬁwfé@ (e 7 = 3.14)

€ area of the toy.
9Bl 7oA «a R Rt p R T S — 35

B25-GM /501
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)

TR N @Ee geE 35 om @@@ A A

;;glaﬁ SRR Gorefy T8 SNergn 155 cm, porenfy - firg asemsfrd

SRR

cm TRl U Vg F e Hi 2, S 3¢ B At v
T IR 2| 50 ey 6 wqf S 155 cm 21 790 faeh

w m STHA RIGI Wl E]:i-cE_!
Ej L
59. The mean of the following data is 22. Find the value of x : 3
Class interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 12 % 6 7 9
TR ORI W 22 B'CE, x 7 I FefT 0 ‘
(9% wZwE | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 |
SISO 12 x 6 7 9
[evg wHa T 22 =A, x @3 T el T ¢
™% @ | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
[T 12 X 6 7 9
ety @i s 22 SwEEe, x foAE R
ogrEt @i=<E | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
TATAYT 12 X 6 7 9
O :-cE!
o 2AfEE] o1 7I1Eg 22 ©1 x % AH Fid hife ST
1 A 0-10 | 10-20 | 20-30 | 30-40 | 40-50.
arEndl 12 x 6 7 9
B25-GM/501
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60. Construct a right-angled triangle with its base and hcight
as 4 cm and 3 cm respectively. Draw another triangle having

. ® y .
sides 3 times the corresponding sides of the right triangle. 4

“

b1 SN gs Wl 16 B 4 cm G TSl 3 cm; A PES A b
¥ 2
forge: it w1 AT e ) fagach oA A < 4|

aﬁwﬁﬁmﬁwqugﬁhmmmscm;womﬂrzﬁﬁs
fros < 2
a¥ WWW@%WW@%WWﬂW@ngu

AHE @Y SR anfa Sod g 4 om FR SEEA 3 em. 9 3=
@ﬁqﬁm@mmmﬁmm@mwﬁawﬁ

e A 2w Sy

7R
' T T Bys A = fifve, frew smur ok $9E S 4 om 3w
} 3 cm T wh 3 Biyw e i, et yemt R gw g 6 o
|
l

w@ﬁ%ﬁﬁl
/61./Find. the z.eroe's of the polynomial x2 + 7x + 10, and verify the
relationship between the zeroes and the coefficients. 4
A D O S R s
;i 9[; 79%;71 (;;TQTW PRRERE I IS S P R —_—
2 : J
2
T T e e
(Do £

* ok ok

‘} B25-GM/501
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